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QUESTION 1

An engineer designed a new wireless network for an enterprise customer. The customer is concerned that some
wireless features may not be available because the bill of materials has only Base and no WPlus licenses for the Cisco
WLC version 8. What is the reason for the engineer to take this approach regarding the licenses? 

A. OfficeExtend AP needs a WPlus license. 

B. CAPWAP Data Encryption licenses are required for this feature. 

C. All WLC features are available because WPLUS license is now included in the Base license. 

D. To have all the features, Plus licenses must be installed on the WLC. 

Correct Answer: D 

 

 

QUESTION 2

During a meeting to gather the requirements for a new Wi-Fi network design, the customer requests that 802.11a and
802.11ac clients be able to connect. Which affect does this have to the wireless network? 

A. bigger channel width 

B. lower throughput 

C. 2.4 GHz signal congestion 

D. higher RF reflection 

Correct Answer: A 

 

 

QUESTION 3

An AP is receiving 802.11 packets on its 802.11a radio with an RSSI value of -77 dBm. The current AP is part of an AP
group that has been assigned an RF profile with RX-SOP set to Medium for 802.11a. Which action does the AP take
with the packets? 

A. All frames are classified as non-Wi-Fi frames and are not decoded by the 5 GHz radio. 

B. Frames are decoded by the 2.4 GHz radio. 

C. All frames are classified as non-Wi-Fi frames and are not decoded by the 2.4 GHz radio. 

D. Frames are decoded by the 5 GHz radio. 

Correct Answer: D 
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QUESTION 4

An enterprise has moved most services to the cloud, including email applications and real-time communication. Which
feature must be enabled on the wireless network to improve the user experience? 

A. QoS 

B. Radio management 

C. Interference mitigation 

D. Fast secure roaming 

Correct Answer: A 

Reference: https://community.cisco.com/t5/wireless-mobility-documents/what-is-cckm-and-how-does-it-affect-fast-and-
secure-roaming/ta-p/3130421 

 

QUESTION 5

A customer is looking for a network design with Cisco Hyperloctation using AP4800 for location tracking via a custom
mobile app Issues appeared in the past with refresh rates for location updates. What needs to be implemented to meet
these requirements? 

A. Cisco CMX SDK in the location app 

B. redundant CMX and fetch location in round-robin fashion. 

C. device Bluetooth via the app 

D. Cisco FastLocate technology 

Correct Answer: D 
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